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Q_ P~. Cude* 27375 ~
(2 Hours) --'<Z""‘_-'3':- _ [Tutal Mafk@ ﬂg} &-ﬁh‘%
N.B. (1)  Question No.1 is compulsory. S Ay :‘" o, ?'ﬂ ¥ R«f
(2) Answer any three questions from the remamgng ﬁvg : : g 1 2 ; S
(3] All questions carry equal marks. e A S & i it a: _,\::_.;__ e s |

\..

Atomic Weights: Ca=40, Mg=24, H=1, C=12, 0=16 CI—SSSStSZE,Na—dS #@sgs

¥ (

Q. 1. Solve any Five: | ey NG \, “’ : - ;\\: (15}
a) Define Phase with example 4 Lot P G T S S
' B SN
b) Distinguish between CDD‘and BBD e “‘n:'%ssﬂé":‘f,s::__, e i
¢) Give the preparation, pmp‘&rﬂqs and nges angv]:ﬁL el

d) Find the Sapomficatmn valua uf'an ml we1ghglg g 1. 7@1‘1 reﬂux w1th 35 rnl of 0.4
N KOH, required 25 mI ufﬂ 4 N HCI fcn_r nmén The Blank readmg was 35ml of

04NHCL 73 S oyl ettt
e) What are the: %uao& cha:abtﬁust;cg pf raﬁ‘aetomé%ﬁ‘ fr ) .
: f) Explain Qﬂngucung pnlyrnerf E";:f :f"“ %‘1; 3 6 e
2) Calculate tempﬂrmy angl Lotal ha,gd{}fﬁ @' a s&mple uf watﬂr containing following
ImPunf.:les, Pt R WS ”*-" R T
Ca (HCO3): =162 mgﬂ_: V. “"__lzﬁ%ni@l; NaCl*SS 5 mgf‘L
. Mg (HCO3);=155 mg/L, c,‘a o) NmgL.
Q2. (a) Calﬂulatt; the amnun,mfﬂ;_ me ﬂn-:l sada(lﬂ{}% pure} required for softening 50,000
L:-; lltersofhardnti{a‘l@y 1 in; -iCa\C(?a—ZippmlMgCOa—lMppm, CaCl;=111ppm,
* MgCh ﬂippmywﬂg%ppm and Ec; S04=25ppm. (6)
(b)Bxplaln Qna,ﬁﬁmgkogﬁnt wa{énsyst:m with phase diagram, 5
(c) Wnte an'f @n@gﬁpeﬁw -md appht;ahnn of CNT. (4)
Q (a) Expla'% gﬁ'j;r }‘Wﬂ uf thc folluwmg pl’ﬂpﬁl‘tles for lubricant with their significance (6)
A gl @Mﬁmm and Pour point
S ?'Lt_:'-‘ﬁﬂ;._-?i_j_:"}_l EI% point and F)rt:pmnt
TR E ST e "?" 151ﬁcﬁu’m SF
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1':":. By .--‘ _\}'_.*-l: s ﬁta }" _..' "‘. -_-:"‘-w J. 5

)!ﬁaﬁlhem is need uf vulcamzatmn of rubber? Give the application of Buna S
ww S ®
P_‘.v"::“" (r:) Hnw man}' degrees of freedom are present in the following systems: (4)
Az N !
& N Iz ®+— 1
T i, -r_‘*r_';_.‘_.___“.u X% -.\ AL deBE
£ g Hd'll () «——" NH3(g)+HCl(g) : . E
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iii. Two partially miscible liquids in absence of vapnur g ::-.- x _.
Iv. Ag(s) ——— Ag-Pb solution () +Pb —Ag ?gpuur (g) ' k
oty },‘\ </' o *..&‘
Q.4. (a) What do you mean compounding of plastic? Explam the rule af each mnsntuent |
with example, ARG RS @ <
(b) Explain following s 'q'i‘ o '- \\H o e fﬁl,‘i}e
i.  Explain role of chlorine in d:smfecyun of water. \ ISR 32 ) SN
ii.  Explain reverse osmosis and gwe.ﬂ*:ts app_hcatlon, S g -. & lgni-t;
(¢) 4.6 gm of vegetable ojl required :Zml -QI‘N!I,\IO{] KOH dyrmg !ubﬁaﬁ% frnm acld
Value state whether the ojl j i uaeful fnr luhncatmn or nat. (,;s‘& .4 (_4)
Q5. (a) Write a note on (any twu} RS S " -
i.  concrete «:“:ré“ﬁ“}xx\ A 1
ii.  silicon carbide - AT Py o"'.-;’*‘ N 1‘-:.‘- e, -
iii.  Setting and ha}d"enmgqftgment B o
(b) Give preparauan progert;es and uses ofPM . and Ph Idehyde resin (5)
(c) The hardness ‘of. 30 QﬂQ.ll!ers LW (4)
by passing 1t,thm mgha 2&011 tener ﬂmnmqmred 1500 liters
of sadfum:chtundﬂoluugﬁ >t¢r ;:-f ' NaCl for regeneration.
Caléufﬁte?ihbc_hq‘fdaesa“oft S
Q.6. (a) Exp’lam,fojium B (6)
- Explainp pg_'mmple: mwive

Draw neat and labelgd q; an L'r :gm axchange process
(h) Daﬁne fabnca‘tmn E}gp ol _.rcmun inuuldmg with labeled diagram, (5)
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